A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - X

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :

All questions are compulsory. Candidates should write the answers only in the blank space provided.

Candidates are advised to attempt either the Odia medium or the English medium questions as per their
choice.

There will be no negative marking for any wrong answer.
Do the rough works on the sheet attached at the end of question paper.

Change the voice of the given sentence.

Q1. Get out of my way.
Q2. Sanction my loan.
Q3. Catch the thief.

Q4. Let him be asked to vacate my house.
: i lk )
Q5. Women like to be talked to o
Q6. ltis time to say prayer.
a7. I know him. ) y
-

Change the speech of.the given se e\c\es

Q8. Thec N applau dm saying that | had played well.
Qo. Sheéald hat sh unw II

Q10. She said thatjsh woulch)e in Scotland the next day.
Q11. He saﬁ “I'i"be disposing the old computer next day.
Q12. She asked whether we would come for the party.

Q13. Rama said, ‘I must complete the assignment’.
Combine the sentences into compound sentence.

Q14. The bell is about to go. We should to go to our classes.
Q15. We don’t borrow money. We do not lend money.

Q16. He shall stand first in the examination. It is certain.

Q17. His father would send him abroad. He was assured of it.
Q18. A serpent swallows the moon during the eclipse. This belief still exists.
Q19. Here is Dristhi. | like her very much.

Q20. When does the train arrive? Do you know the time?
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Q1.

Q2.

Q21. Mohit is ill. He still attends school.

Q22. You may be very clever. You can’t deceive me.

Q23. Getting blood from a stone is impossible. Getting money from him is equally
impossible.

Fill in the blanks with the appropriate phrasal verb.

Q24. All the tickets for the avengers were

Q25. The judges will to their decision for a while.
Q26. Please don’t all your money.

Q27. The kid decided a new hobby.

Q2s8. the study materials the teacher gave you.
Q29. Please this application and submit it there.
Q30. Timothy finally at the wedding.

Fill in the blanks with the finite and non-finite form of verbs given in the bracket.
Q31. (be) you (bring) all the necessary documents

for the verification?

Q32. Shaun (move) as he was terrified.

Qss. (satisfy) with our work, our teacher gave us chocolates

(appreciate) us.

Q34. The (loose) team was consoled by théelprincipal.
Q35. After the accident the (shake)\boy was kﬁo the hospital.

Q36. Don't forget (leave) omﬁwn y for me @n thetdble.
Q37. (find©ut) about the agcident. Pr tiedShed to the hospital.

Find out whether thejverbs ate finit o&\qon inite.
Q38. “To @rris human t:Ergiv is divine”.

Q39. She opened the door. N

Q40. The deg ed its tail to show its happiness.

&0 09l 9Ia QUIY 0.50 mm B 9G6QRIG! 1.6x102Q m | 20Q JGEQRI SEN YR IR 6Q6M
69Q |

The copper wire has diameter 0.50 mm. If it's 20Q of resistance and 1.6x10°Q mresistivity
of the material exist. Then the length of the wire is
QY6 JRRIDIBR QAL @2 el 69I6] RERNTP IR LR QR G1F

QUG P& |

The flow of electrons experienced in a current carrying conductor is not random because

of presence of inside the conductor.
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Qs.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

Q11.

Q12

Q13.

Q14.

Q15.

Q16.

F1QY 621 QL RIBQ O @IF PN |

The eyes are removed within hours after the death of a person.
OFFIR VAR QIR RR IR QIR 8] 9 AR UG |

is used as the alternative of spectacles.
SR ARIQEIGS Q IR SINAGIR 926 G A TS FAIKIR RS |

is used as preservative to store the food for a longer period of time.
646 QIR JORAER Q68 & 29 Gl @0Q |

The chemical reaction in which the precipitate or resichme is formed is called as
Q0 AREQ 6 QNG AR QPR UYAQ QEPERQ ARG 4 |

turns silver chloride from white to grey.
QG Q! Ja 6NN QIR PHIP @RI |

Litmus extracted from class of Algae.
HIGIEPA 21R6QIRARPR UYL |

Magnesium hydroxide is also known as
QgeIE (Nettle) Y@ QQI Q1010 QL@ NQ° Q) §8Y6 620 2 2RI

QU 2SS |

is secreted by Nettle which caused\pain. _
ALO, + ——2NaAlo, +H,0 ) e
deRle  (Aquaregia) 6208 @AY @%c\a, Tmcgl Mo dip Pede @oe
|

Concentrated-HGkan O\is ixed up in ratio to get the by product

Aquaregia. < )

is the least reactive metal.
CaClz @ gl K.

2
e 2I00R0) Ie\E

JIg 9Q0IQ @ dealsR (reactive) 26S' |

Melting point of CaClz is K.
29 96 82 Q9 2BRIAAQ GIG U6 QEIN, 656Q IRRERGIER 616 @R 2itRle 698 Jo oY

AISI6Q QRN | 21§ 2RI R |

If a very small object placed in path of the light, then light bends, which is called as

AT 8 IR JGRR AQI6QER QJEI6Q 6QSICIN |
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Q17.

Q1s.

Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Qz28.

Q29.

Virtual and erect image is always formed in mirror.
661N 6REAR JIBIR -2.5 D | ¥2IQ 6FId @0 |

The power of a lens is -2.5 D. Then the focal length will be .
30 69.1. Q&G QUIAE G4% e a8l @dd0Ig 20 62.8. @6 5.0 62.51. 63AUR 6615 Qg

28 195Qaa g 69Q |

The radius of curvature of a convex mirror is 30 cm. If an object of height 5.0 cm placed at
a distance of 20 cm from the mirror the position of image is
2Ieon odden J86aa 2IRia B gR 2IRIR 62Q 6606Q6R QLS ‘F’ 016 @ |

When the object is at F in a concave mirror, then the size of image and object will be

odd Q0 6% IR 8 e FFaa J¢ A5 69412 |

mirror is used to view the image of tower and tomb.
YAQ| 6QINSIR 6AINIRER SR YRIQ QF @R |

The amoeba grows during of its nutrition.
R RIS QIR QIR |

The is an example of insectivorous plant.
IRRIRF HIAYER QI IR ARIRS aGel

"
present in the food.

Q@ | Liver @ 06361@ @;a)@m I\‘II -

The bile stores at the liv

Y qﬁm@q 06

@RI | ( S——

| S1IBY Q@ AIERQ SIHER Q! @5@@@@1@3@

The < ) is not an enzyme, but helps for the emulsification of fat during
digestion.

T2 ARERIQ FG PRI 6DITRe 6Q IQEIG @R |

The intestinal juice converts the protein to in small intestine.

FIPAETST ARYAIR SlIAY 2 2ReR1e Jaie ARIN @GN |

The muscle allows the movement food from stomach to small intestine .

ISR QREJIR FR0191 PRIR AIF ALE 00 AAQIR GG Q21N |

In case of male the cutting of vasdeferens upto 1 cm to avoid fertilisation is called

45§ 50 oF @04 A8 PR 9GP 99 620! JRIIG. Q21N |
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Q30.

Qa31.

Qs2.

Q8383.

Q34.

Q835.

Q36.

Qa37.

Q38.

Qa309.

Q40.

Q1.

Q2.

The stoppage of menstruation at the age of 45 to 50 is called
64I6] QS 3 PINIQ QUG Heq 60 @HRIER RIGE |

Due to the sex ratio is declining day by day.
IUCD @ CPRcPel =

The full form of IUCD is
AG68d adle PRSI QSN |

Reflex action is controlled by
A9'Q 619 QWL 3 QAIFER JQUGIERNE] IR I1DR SSINE

The pea plant can go through both and pollination.
} UGS ARIPR RPN 6QIR QI |

is called as father of genetics.

Q6N Gea 2l6Q6l Qe QIG QAIGe @6 |
The nervous system uses impulses to transmit messages.
2lI¢1 SN dYM@ B QIQKIEH QG IER ALY REQ |

Posture and balance of our body is controlled by
QAR CI8R JQ L@l 6| AR QI 2U6S' |

Leaf fall is controlled by hormone in plant.
JRQUNPRT GRS 2IPa. Q@ fLom Clle (p%'ﬂ@ Q| I\‘l |
The growth of pollen tubes to rds th ovule is _— movement.

ARG I 601 FRIGR CI"I% @@IQI

The smallgap betwee t@ neuron | caIIe
QLR QALNP. HIQIS 2QYIQER &N |

< )hormone in plant is available in gaseous state.

MATHEMATICS

FAARIQ! AR 2RSS AR @R X ¥I6° y @ g Fdd 0 |

21x+47y =110 47x+21y =162

(% y)=( )

Solve the system of equations and find values of x, y.

21x+47y =110 47x +21y =162

(% y)=( )

@?JIE]I@QQI dOm A6 LG LERIID JEW NQ° a+b+c =0 6¥QI6M € =

)

)

2x—(a—4)y=2b+1 4x —(a—1)y =5b-1
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Qs.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

Q11.

If the system of equations given below have infinite solution and a+b+c =0, then the value
of c =
2x—(a-4)y=2b+1 4x—(a-1)y=5b-1

AABC 6Q ZA=x°, /B=(3x-2)", £C=y", Q" /C-/B=9", QI'626@ LA-~/C+/B=

In AABC, #A=x", /B=(3x-2)", «C=y°, also £C-,B=9", then the value of ~A-,C+/B=

QG (a2 +b?)x* —2(ac+bd)x +(c? +d*) =0 Q Q10 QL AP 9AQ, G1I'626m@ ad — be =

If the roots of the equation (a*+b*)x*—2(ac +bd)x+(c* +d*) =0, are equal then the value of
ad —bc =
D9 kx(x-2v5)+10=0 Q @16 QI QIR Q" AP 2UQ, BI'626M k =

The value of k for which the equation kx(x-25)+10=0 has real and equal roots is

x®-3x+2=0 Q IRIRY QIR el =

The total no. of values of x satisfying x*-3|x|+2=0is

601G AAIRQ JOIGQ QY n Qee 9] S, =n(4n+1) GI'6RER ARIQS 2R =

If S,=n(4n+1) is the sum of n terms of an en value ofﬁmmon difference =

Q8 5, a,, 8. a,,, 145 @I OGS @@@|6@6 aTa,

If 5, a,, a, ™. Ay ISI X\‘
I3(a) GQI@G%Q d Qx’{ﬂ JoR YN = g 9 q JeQ A = p, GI'secm Qo

(p+9)00Q Q@@ r)

If sum of first p terms of an A.P = g and sum of first q terms is p then the value of sum of

first (p+q) terms is

111
x+2° x+3° x+

[3(9) = I8 JOIGER Qae, B1'626M X =

If 1 1 1
x+2° x+3° x+

661N QIE Tl n @ 6Fle GEENE 2°x3“x7°x5 GI'6@6m 698 n Q@ 68I196Q

: arein A.P then x =

G 9e Q@ ?

If the prime factorisation of a natural number n is 2®x3"“x7°x5° then the number of

consecutive zeros at the end of n is

PAGE - 6



Q12

Q13.

Q14.

Q15.

Q16.

Q17.

Q1s.

Q19.

Q20.

A6 Q96 URIIE el a e b @ 61.9LE e Q.41 X & y (Daleen), oreasm XY =
a

If the HCF and LCM of two positive integers a and b are x and y respectively, then :—y =

9 a @ RAY 6IRR JERIgn = 3 96° b @ RAY 6(IRR GEINIgR = 7 0696 (a+b)e XN

601R6 QeI =

If 3 is the least prime factor of number a and 7 is the least prime factor of number b, then

the least prime factor of (a+b) is

AQOIQ REY el AIgl 996 V27 @ PP @R 66T QG reMl FieRm, 698 el =

The smallest number by which +27 should be multiplied so as to get a rational number is

661151 2RIagea &M 6QFRIR FRQIR ARG =

The probability of getting 53 Mondays in a leap year is

66115 QUIEIER © Q 98 66l QI A1 2@ 1 698 QUITIR) 6N A1F QIR ARITIRI | 698 AIFER

BRG] FSHIG 9 IQ° N QIR QAU SLIRY 62QIQ AAIYR| =

ndwom the bag. The

A bag contains cards numbered from 1 to 25™A card is'drawn at

probability that the number on card is divisiblg by both 2 nd}is-

661G REGTAER Qe el Qﬁv @i@ Ayl 69R1 0.0 | &8 9000 Tas Ga
621N, g1'626m 64 |@§ .

A girl calculates that the prot>abi|ity of her winning the first prize in a lottery is 0.08. If 6000

TRG adigml ?

tickets are $0ldy-thfen the number of tickets she bought is

A (k—1)x* +kx+1 Q 66115 QIRQ Y - 3, 666@ k =

If one of the zeros of the quadratic polynomial (k—1)x* +kx+1 is - 3, then the value of k =

Q6 0Le° B p(x)=axt +bx+cQ Q1R Q4 265G, 666@ é+lz=

p

1 1

If O and B are the zeros of the polynomial p(x) =ax® +bx+c then —2+?_
o

N9 G 69 & &M & 6JRIRQ AFRIL IRy MO SRl | &M G 6d@ NG° MO 6IRIRN AR

IRY YOO 'R, 696Q 66116~ 6IRIRA QY SRl |
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Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

37 pens and 53 pencils cost together Rs. 320. 53 pens and 37 pencils together cost Rs.
400. Then cost of 1 pencil is
QG TENIQ ARG § : D1 U@ JeoUR Grelg T Qi AQIKIN, 666Q 2edle ¥ : &

6RIRAIN | 606Q RUN PEHIQ QY =

Two numbers are in ratio 5 : 6. If 8 is subtracted from each of the numbers then their ratio
becomes 4 : 5. Then the smallest number
0 Q@6 AN@QE! ax® +ax+3=0 NG° x*+x+b=0Q 661G 661G QeQ RY © @9, 666Q ab

If 1 is a root of both the equations ax®* +ax+3=0 and x*+x+b=0then ab =

66116 AAIRR JOIGER S, A N Yo AAK 1666 S, :(S,,-S,) =

If S,denotes the sum of first n terms thenS,, : (S,,-S,) =

601N AAIRQ YOIGER JalFl n e ] S, = 2(3n +7n), 6G6Q a, = -
a, =nOf JOQ IRY)

For an A.P. if S, —2(3n +7n), then a, = . (S, denotes sum of first n
terms and a, is value of nt" term)

60N Afllee QeGea V2, B, 18, 32, @ \geA_n caq @] S, =

Sum of first n terms of the A.P /2,
£ AABC ~ A DEF cm, \K
aQQial = F \ N\

If AABC Aﬁ A‘B , DE=6cm, EF =9 cm, FD = 12 cm, then the perimeter of

A ABC = €
QR 66 ~ACB = ~CDA, AC =8cm, AD = 3cm, then BD =

In the below figure ~ACB = ~CDA, AC =8 cm, AD =3 cm, then BD =
C
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Qz28.

Q29.

Q30.

Qa31.

Q3

Q8383.

Q34.

o

o OgeQ ~ABC=90°, AB : BD : DC = 3 : 1 : 3. 96 AC = 20 cm, then AD

In the below figure «~ABC=90°, AB : BD : DC =3 :1: 3. If AC = 20 cm, then AD

B D C

@80l 2Fe AQIINIAl AN GBT 66116

Parallelogram circumscribing a circle is a

66IEN QB 6615 QUIA AB NG AC & @Yl 2166 | ~BAC=30° O& C 596Q 2§ae AB & D

Q96 689 R (@J@\@ QRIRQ VTR ) 6669 BC =

AB is a diameter of a circle and AC is its chord such that «BAC=30°, if the tangent at C
interests AB extend at D then BC = .
089@ ABCD @ 2128Q36a AB = 6 cm, BC = 7 cm, CD = 4 cm, 666

D=

cm.

Quadrilateral ABCD is circumscribed to a circler AB 6 cm, BG =7 cm, CD =4 cm, then
AD = —

~ ~ ~ _ g
66115 Q@8 QYA 2 @@ @ QUG NI CIQ?HE‘J 60\ | Q@Q QWQI@ 3 cm 6G6Q %@@Q
AT

If two tanéents inclined at an\ang e at 60° are drawn to a circle of radius 3 cm, then length

of each tangent = cm.
661N QAQ 662689 0. 088g 60 A Q Qa6 QRG 26a AP ¥e° AQ 2F0 RTINS 6@

69F1I6R URER 96 AR B9E | 99 e QAFQ 63dY 5 cm 666@ QAR QAT 6@

cm.
The pair of tangents AP and AQ drawn from an external point to a circle with centre O are
perpendicular to each other and length of each tangent is 5 cm. The radius of the circle is
cm.

@3 66 PQR QB! @06 Y@ @@ | AB|PR. /BQR=70° ©626@ ,AQB =
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In the above figure if PQR is a tangent to a circle at Q whose centre is O, AB is a chord
parallel to PR and #«.BQR=70°, then ZAQB =

A

: G ;

Qss. 98 6615 QBWR QRE QUAIR FRIER 6RIS 1300. 698 QUIAIRAIRE 92 2Fe 621Rde| A

Q36.

Qa7.

Q38. @B OGER DE|BCEGER X =

AIPR FRIBR 6161 QL]

If the angle between two radii of a circle is 1300, the angle between the tangle at the end of
radii is

QR 5G6Q 666Q@ LA=«C AB =6 cm, BP = 15cm, AP = 2 cm, CP = 4 cm 666@ PD =

cm.
In the given figure «A=2C AB =6 cm, BP = 15cm, AP = 2 cm, CP = 4 cm then PD =

cm
l\\ \Q g
66115 @ |@ @ o ABC SQ\A§ AC = 25 cm and BC = 14 cm, 6669 A § BC 06 2i&@e
QAQ a6 ( cm.

In an isosceles triangle ABC of AB = AC = 25 cm and BC = 14 cm, then the measure of
attitude from Aon BC is = cm.

In the figure the value x for which DE|BC is
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Q39.

Q40.

3x+19 3x+4

B C
Qf 92 AR AGER Al IR 20 M ERPIR QI BF QTR 10 m 814 98 G6Q | 698 AFTER 9@

S8 50 M RAQ 1L %@ @EQ 6P6Q I3 ARC| m.

A vertical stick 20 m long casts a shadow 10 m long on the ground. At the same time a
tower casts a shadow 50 m long on the ground. Then the height of the tower is

m.
6615 arliee Qaica adif e IS g8l 692 JOIGR 2R 0o 20 Q8 92 AAIP | 636Q 698

JEIGQ NBF YR TIRY

If 5 times the 5" term of an A.P is equal to 8 times its 8" tem, then the value of 13" term =

add

>\\\<)\X//

)
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